

Optimal Page Replacement 

#include<stdio.h>
int check(int t[2],int i)

{

int j;

for(j=0;j<3;j++)

{

if(t[j]==i)

return 1;

}

return 0;

} int find(int a[25],int t[3],int i,int n)

{

int j,flag=0,z,max,k[3],x;

for(j=0;j<3;j++)

{

k[j]=0;

for(x=i;x<n;x++)

{

if(t[j]==a[x])

{

k[j]=x;

break;

}

}

}

for(j=0;j<3;j++)

{

if(k[j]==0)

{

z=j;

flag=1;

}

}

if(flag==0)

{

max=0;

for(j=1;j<3;j++)

{

if(k[j]>k[max])

max=j;

}

return max;

}

else

return z;

}

int c=2;

void display(int t[3])

{

int i;

printf("\n");

for(i=0;i<3;i++)

{

printf("%d\t",t[i]);

}

c++;

}

int main()

{

int n,x,i,k,p[25],t[2];

printf("\n Enter the no of pages:");

scanf("%d",&n);

printf("\n Enter the pages:");

for(i=0;i<n;i++)

{

scanf("%d",&p[i]);

}

printf("\n Optimal Page replacement:");

printf("\n%d \n%d\t%d",p[0],p[0],p[1]);

for(i=0;i<3;i++)

{

t[i]=p[i];

}

display(t);

for(i=3;i<n;i++)

{

x=check(t,p[i]);

if(x==0)

{

k=find(p,t,i,n);

t[k]=p[i];

display(t);

}

}

printf("\n\n\n Total page replacement : %d",c);

return 0;

}

Output:

linux-ibmc:~/poorni/os # cc optimal.c

linux-ibmc:~/poorni/os # ./a.out

Enter the no of pages:12

Enter the pages:

1     2    3     4    1    2    5    1     2      3      4      5

Optimal Page replacement:

1

1 2

1 2 3

1 2 4

1 2 5

1 3 5

1 4 5

Total page replacement : 7
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